Xumus 0apeciaperod
cmanoapm 0yamazan
MICHIJIINIIAP YUULY




CaCoO, +2HCI| — CaCl: + CO2+ H:0
1)m (HCI) =250 « 0,2 = 50r
2) n(HCI) = 50/36,5 =1,37 monb
3)A m(HCI) =(1,37-2X) « M
4)W (HCI) = me-Ba * 100

mp-a
5)m(CaCO,) =n « M=X+ 100
6)m(CO,) = n+M=X-44

0,04 = (1,37 -2X) 36.5
250+100x-44x

0,04=(1.37 -2X) 36.5
56x+250

x=0,531mornb
m(CaCQO,) = 0,531 « 100=53,1




m(apema) =120 r
W(T03) =0,05

m (TO3) = X T
m (cy) = (120-x)r




M (apema)=125Tr M:(3pema)=150r
+H.0—
W1(NaC|)=0,06 Wz(NaC|)=X

\ m (NaCl)= ?/

(




CnH2n+202
M (matga)= Arx n e 100

W

CnH2n+202 =2n+2
0,1156
14 n +2 +32=2n+2
0,1156

n=5 CsH1202




3Me +4HNO3=3MeNO3+NO+2H20
MeNOs+Nal =Mel | +NaNO3
N(NO) = 0,224 = 0,01monb

22 .4
3 mornb MeNO3 -1 monb NO
X MOrnb - 0,01monb

X=0,03 mornb

n MeNO3= n Mel =0,03 monb
M (Mel) =m_ =7.05 =234 r\mornb

n 0,03
234 -127=108 r\mornb
>KaBan: Ag




